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Fractions

What is a fraction?

A fraction shows a part of the whole.  

It contains 2 parts, the numerator and the denominator. 
 

The numerator is the top number and it tells you how many pieces you 
have.  

The denominator is the bottom number and it tells you how many pieces the     
     whole is divided into.

Example:  7
       8
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Equivalent Fractions/ Reducing Fractions

*To get equivalent fractions, multiply (or divide) both the numerator and 
denominator by the same number.

*When reducing fractions, divide both the numerator and denominator by the 
same number.  If there is no number that the numerator and denominator can 
be divided by, then the fraction is in lowest terms.

Examples:
2  x  3  = 6  20     4  = 5
9  x   3     27   36     4     9

Try the following:
(a) 6  = _____ (b) 8  = 24 (c) 5  =  (d) 12 = 3
     16      8        9      12    48                   84

2.  Write 3 equivalent fractions for each of the following:
(a)  5 (b) 60 (c) 4 (d) 6
      8      100       6      11

÷
÷
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Write an equivalent fraction with a denominator of 10, 100 or 1000. Then 
rewrite as a decimal.

4

5
a) b)  10

     25

c)  6

   200
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1) For each fraction, write an equivalent fraction with denominator 10, 100, or 1000. Then, write the fraction as a decimal.

      a) 	  b) 	c) 	d) 



2) Use Equivalent Fractions to order the fractions from least to greatest

        



3)For each of the following find the equivalent fraction

     a)          b)         c)  d)          e)           f) 



4) For each of the following write 3 more equivalent fractions (Show work)

     a) 



    b) 



    c) 



   d) 



    e) 



   f)  



   g) 



   h)  



5)  Express each of the following in lowest terms

    a)             b)             c)              d)             e)             f)             g)              h) 



For each of the following scenarios write a fractions and REDUCE to lowest terms.



6)  32 students in total and 12 students do not like pizza.  Write a fraction for those that LIKE pizza.









7) a) 4 eggs as a fraction of a dozen





   b) 15 minutes as a fraction of a hour.



  c) 25 cents as a fraction of a dollar.





8) For each of the following find the equivalent fraction



a)        b)       c)       d)       e)       f)       h)       i) 



j)          k)       l)     m)     n)       o)       p)    q) 



[bookmark: _GoBack]    r)       s) 	   t)          u)      v)     w)     x) 
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Grade 7 REVIEW of Fractions

Fractions and Decimals NO CALCULATORS

Part A – Prove your solution

____ 1.  Which of the following is a repeating decimal?
c

 
 (a) 1/2

  (b) 3/4     

(c) 1 / 3

(d)  14 / 20



       0.50
  0.75


    0.3333…

       7/10  = 0.70

____ 2.  Which of the following is the smallest? 0.15


(a) 0.15   
(b) 2 / 5

(c ) 1 / 3

(d) 3 / 10




4/10 = 0.40


0.33…


0.30

____ 3. A decimal between ¼ and ½ is:    c




         0.25    0.50


(a)0.20

(b) 0.25

(c) 0.42

(d) 0.5



____ 4.  Forty-eight thousandths is written as:   (Ends in the thousandths place   d) 0.048)

 
(a) 48 000

(b) 48

(c) 0.48
(d) 0.048


____ 5.  Which decimal represents the fraction 7 / 99?   (seven is in the hundredths place  (d)  0.7070)

(a) 0.0707…
(b) 0.07     (c) 0.7
  (d)  0.7070…

____ 6.  In the question,  9.32 – 6.85 x  2 + 21 ÷ 6.7, which operation would you do first?   C( Multiplication)

(a)  addition

(b) subtraction

(c) multiplication
(d) division


____ 7.  What is the multiplication sentence for the diagram to the right:    B

(a)   2.3 x 2.3

(b)   1.3 x 2.3

(c)   1.3 x 1.3

(d)   0.3 x 2.3

____ 8.  What is the answer to the multiplication sentence in question 7?    B) 2.99

(a) 1.69 

(b) 2.99

(c) 3.1

(d) 3.22

____ 9.  What is the best estimate for 87.3 + 1.46?         B






    87   + 1  = 88


(a) 87

(b) 88

(c) 89

(d) 86

____ 10.  Which of the following is ordered correctly from greatest to least:   C

Take out to the same decimal place

(a) 0.09, 0.23, 0.99, 2, 4

(b) 0.80, 0.57, 0.11, 0.14
not in right order

(c)    4, 10,       9,        1 


(d) 17,   3.7,  29 ,  18


              3        8         4


       4             20    6


       4, 2.333 , 1.125 , 0.25


  4.25
        1.45   3 


Part B – You must show work in order to obtain full value.

1.  Write each decimal as a fraction


(a) 0.44


  (b) 1.8



(c) 0.094


REDUCE

  44 = 11



      18  = 9




  94  =     47

100    25                                                    10     5




1000      500


2.  Write each fraction as a decimal.


(a) 2  4 
2.4444



(b) 13 = 65    = 0.65

          9

     


      20    100

3.  Order these numbers from least to greatest.   You can use any method, but you have to  


     explain your reasoning.
    11 ,          15,    1.45,    2


                         

    20            8

1  55   ,  1   7  ,   1.45 , 2



125x7  = 87 5


100          8   


1.55 1.875     


1.45   , 1  11/20   ,  15/ 8 ,  2

4.  Two students are asked to find a number between 1 and 0.25.  Kiki’s answer is 0.23.  









 5


     Graham’s answer is 13 .  Which student is correct? (Show work)   




  60

1/5 = 2/10 = 0.20        0.25            13/60 greater than 12/60=1/5    but less than 15/60=1/4

So both are right


5.  Give a front-end estimate, then calculate the following (show your work, do NOT use a calculator):


    (a)  425.18
+   628.89




Estimate:




Actual


  1 1 1

425 + 630 = 1055



425.18

                                                                     + 625.89 


                                                                       1051.07


(b)  769.86  -  347.2



Actual

Estimate:

         770  - 350  =   420









                                                                        769.86






          - 347.20







422.66

No estimates just show actual answer for c,d


     (c ) 21.9 x 6.2





(d) 623 ÷  1.2



                 21.9



Long division               5 1 9166666

                                                                                                              1.2    623



  X   6.2                                  



           60

                               438                                                                                     23

                        + 13140                                                                                     12

                            13578                                                                                     110

                              







   108

Needs two decimals 135.78                                                                                   2 0

                                                                                                                                12

                                                                                                                                  8

Since dividing by  number a little bigger than 1 it will be a little smaller than 623  So 519.16 

6.  A family takes a 2 day car trip.  Their car’s odometer reads 438.25 km at the end of Day 1.  


     The family travels 415.49 km on Day 2.  (The odometer was at 0 at the beginning of the trip.)


(a) How far did the family travel in the 2 days?(SHOW WORK)

                                    415.49  

                                + 438.25


                                   853.74


(b)  How much farther did the family travel on Day 1 than on Day 2? (SHOW WORK)

    438.25

-   415.49

      22.76 


7.  Evaluate(no calculators).(Show work on side or scrap paper)


(a)  8 + 2 x 4 – 12 ÷ 6



(b)  1.5 x 2  + 8.7 ÷ 0.1 – ( 37 + 13)

                  8 + 8      - 12/6



       1.5 x 2  + 8.7 ÷ 0.1 – ( 50)

                   8 + 8 – 2




              3  + 8.7 ÷ 0.1 – ( 50)


                    16 – 2                                                                     3  + 87 – ( 50)


                       14





         90 – 50


            







40

Name:__________________







1
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